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HoME ScCIENCE

1. Out of the followings which one is associated
with ISO 22000 standards?

(A) Safety and Quality
(B) Quality

(C) Safety

(D) Security

2. Select the correct sequence of the steps of
dietary counselling as per ‘Helix model of
counselling’.

(A) Precontemplation — Action —
Maintenance — Contemplation

(B) Action — Maintenance —
Precontemplation —
Contemplation

(C) Precontemplation —
Contemplation - Action —
Maintenance

(D) Maintenance —
Precontemplation —
Contemplation — Action

3. Whichtype of anemiais auto immune type?
(A) Pernicious anemia
(B) Sickle cell anemia
(C) Megaloblastic anemia
(D) Aplastic anemia

4. Which cooking method is suitable for
preserving Vit-B , in meat?

(A) Boiling
(B) Microwaving
(C) Grilling
(D) Frying

5. Argemone oil contain which toxic
substance?

(A) Solanine

(B) Sanguinarine
(C) BOAA

(D) Pyrimidine bases
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6. Process of cycle of introducing a new
product into the market is called

(A) Innovation

(B) Commercialization
(C) Invention

(D) Initiation

7. Which finishing process involves raising
fiber ends on the fabric surface to creat a soft and
fuzzy textiles?

(A) Singeing
(B) Bleaching
(C) Napping
(D) Carbonizing

8. Whatis the key benefit of capacity building
for individuals?
(A) Creating a
environment

stagnant work

(B) Narrowing carrier opportunities

(C) Improving employability and
versatility

(D) Job satisfaction reduction

9. What is the primary goal of skill
development programs?

(A) Enhancing physical fitness

(B) Promoting social media usage
(C) Improving professional expertise
(D) Encouraging random hobbies

10. What does the term ‘Affordable
Housing’ generally refer to in Indian
perceptive?
(A) Housing which is cost 50% of a
household’s income
(B) Housing that costs 30% or less of
a household’s income

(C) Housing that is subsidized by the
Government.

(D) Housing thatcosts more than 60%
of a household’s income.

6. DEFIFIE ‘71%11?\9(.\9 e e <Ed ﬁb*\ll
A FE F9 7 =
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(B) Fifefetzre
(C) BTG
(D) MG
7. @ efEmaal ReeEa v
TG ARG T S IS, Tl 2 2
(A) PR
(B) fafg
(C) =ifor
(D) FREIER™R

8. fes =i Al drerFTel 5i0e (ol &
BEEIRE
(A) Fieea A= 2wl 7% T2
(B) FIfsa sfeaicss el
(C) JIsa 7ol @ IRe! T 41
(D) FRCwEa T [aera 3= w1

9, e R PG A o7 52
(A) tfes o0t Jfa <l
(B) A& Nrs (2 THO F1
(C) oI wpel Jia 411
(D) TS *4 TfR® F1

10. SITSIF (2FIAD AL SHIFICTIE 2SR
IS ?
(A) AT SNEF 50%

(B) 2TART @ 30% WA Ol
(A

(C) FEIF 2 2va FTHR 2Ifel
(D) CIRT @S 60% 93 &



11. How does skill development contribute to
personal growth?

(A) Increase adaptability

(B) Intellectual development

(C) Enhance problem solving ability
(D) Reduce self-confidence

12. Which of the following is a major source of
indoor air pollution in homes?

(A) Fresh air intake system

(B) Electric heating system

(C) Outdoor plants

(D) Volatile organic compounds

13. What is the primary purpose of
implementing green building practices?

(A) Reducing property value

(B) Maximizingenergy comsumption
(C) Minimizing waste generation
(D) Encouraging building facilities

14. The ‘National Skill Development Mission’
(NSDM) focuses on empowering adolescents and
youth by

(A) Offering specialized sports training

(B) Increasing capability for
employability and entrepreneurship

(C) Providing health care facilities

(D) Encouraging
development

early physical

15. Which Mass Communication medium is
known for its potability and reach to a diverse
audience at present?

(A) Television
(B) Newspaper
(C) Radio

(D) Social Media

X-5
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16. Dye which does not have affinity for cotton
fabrics?

(A) Basic dye
(B) Reactive dye
(C) Sulphur dye
(D) Vatdye

17. Which mineral is required for cholesterol
biosynthesis?

(A) Iron

(B) Manganese
(C) Magnesium
(D) Copper

18. Which enzyme is primarily involved in the

enzymatic browning of fruits and
vegetables?

(A) Amylase

(B) Lipase

(C) Polyphenol oxidase
(D) Protease

19. Which organization is responsible for
establishing ‘International food standard’?

(A) FDA
(B) FSSAI
(C) FSANZ

(D) Codex Alimentarius Commission

20. EAR denotes whattype of central tendency?
(A) Harmonic mean
(B) Median
(C) Mode

(D) Arithmetic mean

X-6
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21. Tapioca, largely cultivated in South India,
is therich source of which one out of the following?

(A) Protein and Carbohydrate
(B) Plant protein
(C) Carbohydrate
(D) Vegetable oil

22. Which family structure involves a couple
and their children from previous relationship?

(A) Nuclear family

(B) Extended family
(C) Blended family

(D) Single parent family

23. Which cooking method retain more
nutrients in vegetable?

(A) Boiling
(B) Grilling
(C) Frying
(D) Steaming

24. Shear is a type of
(A) Blade
(B) Scissor
(C) Needle
(D) Stiching machine

25. What is the normal level of HbAlc in
human?

(A) Less than 5.7%
(B) Less than 4.7%
(C) Less than 7.0%
(D) Less than 10.0%

23
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26. Peterpan collar is a
(A) Convertible
(B) Non-convertible
(C) Stand/Errect

(D) Convertible as well as non-
convertible

27. Zinc in the food is essential for which
conversion?

(A) P-carotene to Vitamin-A
(B) T3t0 T,

(C) Prothrombin to thrombin
(D) Trypsinogen to trypsin

28. Which is not the criteria of a good
questionnaire out of the following?

(A) Questions are arranged from
simple to complex

(B) Questions are arranged from in-
depth to superficial level

(C) Questions are
understandable

easily

(D) No confusion about the meaning
of questions

29. Which substance reduces the calcium
absorption from intestine?

(A) Excess fiber
(B) Phytic acid
(C) Saturated fatty acid
(D) Sulpha drug

30. Excess intake of antacids (aluminium or
magnesium hydroxide) may cause

(A) Phosphate depletion
(B) Potassium depletion
(C) Diarrhoea

(D) Constipation

X-8
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31. Which of the following is a benefit of
conducting training programmes for employees?

(A) Reduced work load for managers
(B) Decreased employee turnover
(C) Higher recruitment costs

(D) Increased competition among
employees

32. Intolerance to dairy products is due to
deficiency of

(A) o-amylase

(B) P-galactosidase
(C) a-glucosidase
(D) Sucrase

33. The ‘thrifty gene’ hypothesis suggests that

(A) some population have a genetic
predisposition to store fat more
efficiently

(B) Modern diets are inherently
unhealthy

(C) Physical activity levels are
genetically determined

(D) All population respond similarly
to dietary charges

34. Which costis not typically included in food
cost analysis?

(A) Labour cost

(B) Raw material cost
(C) Overhead cost
(D) Marketing cost

35. What is key care need for older
adults?

(A) Isolation care

(B) Minimal physical rest care

(C) Maximum social interaction care
(D) Nutritional support care
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36. What is the role of a registered dietitian in
dietary counselling?

(A) Commanding proper diet intake

(B) Suggesting personalized nutrition
plans

(C) Providing emotional support

(D) Providing only economical
support

37. Otosclerosis is associated with
(A) Hearing impairment
(B) Visual impairment
(C) Mental impairment
(D) Physical impairment

38. Food cost percentage is calculated by

Total revenue j <100

(A) Total food cost

®) Total food cost j <100

Total revenue

Total food sale Valuej <100

© Total revenue

Total food cost
(D) x100
Number of customer served

39. Xerosis is a medical condition where
abnormal dryness found on—
(A) Skin
(B) Exposed body parts
(C) Skin and eye
(D) Oral cavity

40. A middle-aged person suffering
from Phenylketonuria, his/her diet should
contain—

(A) More tyrosine and less phenylalanine
(B) More phenylalanine and less tyrosine

(C) More tryptophan and more
phenylalanine
(D) More phenylalanine and no

methionine

X-10
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41. The process of conversion from fibres to
fabric is known as

(A) Weaving
(B) Spinning
(C) Stiching
(D) Felting

42. The “National Food Security Mission” was
started from

(A) October 2005
(B) October 2007
(C) October 2006
(D) October 2008

43. Whichoneiscomputed ‘Body Mass Index’
(BMI) value of a patient having height
1-75 m and weight 99 kg?

(A) 32
(B) 38
(C) 46
(D) 30

44. Which group of Indian sub-continent
population is mostly affected by anemia?

(A) Pre-school children
(B) Pregnant women
(C) Normal women
(D) Men

45. Leafy vegetables contain sterol (sitosterol),
which decreases the absorption of

(A) Fat

(B) Cholesterol

(C) Complex Carbohydrate
(D) Toxins

X-11 23
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46. A defect of which protein can develop
cystic fibrosis?
(A) Cell recognition protein
(B) Channel protein
(C) Carrier protein
(D) Receptor protein

47. The function of Vitamin K is
(A) Thrombin formation
(B) Prothrombin formation
(C) Fibrin formation
(D) Thromboplastin formation

48. Which of the following dietary management
is most appropriate for a patient suffering from
Crohn’s disease?

(A) High fiber diet.
(B) Low residue diet.
(C) Gluten free diet.
(D) High protein diet.

49. Familial hypercholesterolemia is a genetic
disorder of cholesterol metabolism. The relevant
defect lies in the

(A) Impairment in Transport of
cholesterol from extrahepatic
tissues to the liver

(B) Impairment of the cholesterol
degradation pathway

(C) Impairment of the uptake of
cholesterol by tissues

(D) Impairment of HDL metabolism
due to deficiency of Apo A

50. Which type of evaluation is used to
determine the long term effects of a program?

(A) Outcome evaluation
(B) Process evaluation
(C) Impact evaluation
(D) Formative evaluation
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51. Whichone s correct out of the following in
asymmetrical distribution?
(A) Mode=P, =Q,=D,
(B) Median=P, =Q, =D,
(C) Mean=P, =Q,=D,
(D) Harmonic Mean = P, =Q, =Dy

52. When researchers perform observation in
natural setting known as
(A) Structured observation
(B) Unstructured observation
(C) Controlled observation
(D) Uncontrolled observation

53. When facing a disagreement in a family
decision, the most effective approach is to—
(A) Avoid to discuss the issue
(B) Always prioritize one person’s

choice
(C) Seek compromise and
understanding

(D) Letanoutsider make the final call

54. What is the intends of Building Bylaws?

(A) To protect any building against
noise, fire, earthquakes, structural
failures and any hazardous
activity

(B) To give the unique pattern and
color of any building

(C) To arrange the building room
according to the family members

(D) To give the shelter for flood
victims.

55. Whichtextile finishing techniques involves
the use of heat and pressure to create a smooth and
polished fabric surface?

(A) Macerization
(B) Calendering
(C) Sarforization
(D) Napping
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56. Mutation of ‘db’ gene results mild diabetes
in anindividual. Consumption of less complex and
superrefined carbohydrate in diet in
uncontrolled manner results severe
hyperglycaemia. Here, the dietary
carbohydrate considered as—

(A) Extrinsic variable
(B) Confounding variable
(C) Dependent variable
(D) Interfering variable

57. For testing of hypothesis, when P < o, then
which comment is not correct?

(A) Hois rejected

(B) Hais accepted

(C) Resultis not significant
(D) Result is significant

58. Theterm ‘Grapevine’ is also known
as

(A) Downward Communication
(B) Upward Communication
(C) Informal Communication
(D) Horizontal Communication

59. Information contains those words or
symbols that have multiple meanings, acting as
barrier in communication known as

(A) Linguistic barrier
(B) Semantic barrier
(C) Emotional barrier
(D) Physical barrier

60. Which is the first step in the
entrepreneurship process?

(A) Business plan

(B) Product launch
(C) Market research
(D) Idea generation
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61. Consumer Protection Act was passed in
which year?

(A) 1980
(B) 1986
(C) 1990
(D) 1985

62. Whichcooking methodis best for preserving
the nutrient content of fish?

(A) Frying
(B) Poaching
(C) Boiling
(D) Baking

63. What is the primary goal of rehabilitation
for individuals with disabilities?

(A) Providing financial assistance
(B) Providing only physical support

(C) Restoring optimal functioning
and quality of life

(D) Promoting isolation

64. What is a common challenge faced by
single-parent families?
(A) Excessive free time
(B) Limited emotional support
(C) Decreased financial responsibilities

(D) Reduced child-care responsibilities

65. What is the primary focus of the
# Me Too movement that gained
widespread attention in 2017?
(A) Women’s Right to education
(B) Ending workplace discrimination
against women
(C) Combating sexual harassment and
assault.
(D) Promoting women’s participation in
politics.
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66. What is the main objective of ergonomics?
(A) Improving productivity
(B) Enhancing product aesthetics
(C) Maximizing profits

(D) Optimizing the interaction
between humans and their
environment

67. Which machine is used to add decorative
patterns and design to garments?
(A) Cutting machine
(B) Sewing machine
(C) Embroidery machine

(D) Pressing machine

68. During empty nest stage, what resources
becomes more available to the
concerned family member?

(A) Time for personal hobbies

(B) Emotional support from children
(C) Financial stability

(D) Educational opportunity

69. Which of the following is not a primary
objective of human resource development?
(A) Employee training and development
(B) Employee recruitment
(C) Career planning and development

(D) Performance Management

70. The conceptof ‘hidden curriculum’
refers to—
(A) The formal, documented context
taught in the classroom
(B) Theunintended lessons and values
students learn from the school
environment and culture
(C) The curriculum content that is not
covered due to time constraints
(D) Thesupplementary materials used
to enhance the official curriculum
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71. For quality assessment of a formulated
food, the informations are collected from the users
of that food through market research.
Sampling which is done in this case is—
(A) Startified random sampling
(B) Simple random sampling
(C) Snow ball sampling
(D) Cluster sampling

72. How can we help to prevent domestic
violence?

(A) By ignoring the issue and hoping it
will go away

(B) By speaking and raising awareness

(C) By blaming the victims for the abuse

(D) By encouraging violent behaviour as
a coping mechanism

73. The facial expressions of students
relate to which element of the
communication process?

(A) Sender

(B) Channel

(C) Receiver

(D) Message

74. Which of the followingis not akey function
of public health nutrition?

(A) Disease prevention

(B) Health promotion

(C) Clinical Nutrition therapy

(D) Policy development for community
health

75. Which of the following is/are the
symptom(s) of diverticular disease?
1. abdominal cramp
II. severe constipation

III. rapid weight loss

(A) TandIII

(B) Tand 11

O 1

(D) 11
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76. Enhancer(s) of iron absorption is/are—

1. Vitamin C
II. Lactoferrin

III. Folic acid

IV. Polyphenols

(A) Vitamin C

(B) Vitamin C and Lactoferrin

(C) Vitamin C and Folic acid

(D) Vitamin C and Polyphenols

77. Which mineral is essential for energy
generation from carbohydrate catabolism in
connection with physical performance?

(A) Calcium

(B) Manganese
(C) Magnesium
(D) Phosphorus

78. For diet formulation of a group like
football team, which one is consider for
this purpose?

(A) RDA

(B) EAR

(C) REE

(D) BMR

79. Who can be a victim of domestic violence?

(A) Only adult women
(B) Only girl children
(C) Only adolescent girls

(D) Anyoneregardless of age, gender
or background

80. Experimental research isconsidered
as—

(A) Qualitative research
(B) Quantitative research
(C) Qualitative and Quantitative research

(D) Historical research
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81. Which of the following is a common

chemical reaction that occurs in food during

cooking and contributes to flavour
development?

(A) Oxidation
(B) Hydrolysis
(C) Maillard reaction

(D) Fermentation

82. Which of the following is not an energy
yielding nutrient?
(A) Vitamin
(B) Protein
(C) Carbohydrate
(D) Fat

83. The pink colorin Salmon fishis due
to which pigment?

(A) Lycopene

(B) Carotene

(C) Astaxanthin

(D) Betanin

84. To increase spot performance of
sportsperson through glycogen loading, it would
be started how many days before the schedule date
of sports event?

(A) 3 days
(B) 4 days
(C) 7 days
(D) 10 days

85. What is the primary purpose of wallpaper
in interior design?

(A) To provide structural support
(B) To add insulation

(C) To enhance aesthetics

(D) To reduce noise intensity
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86. Which demographic group is often the
primary focus of national nutrition programmes?

(A) Aged group

(B) Children under five years group
(C) Adolescent and young group
(D) Working age adult group

87. Which nutrient deficiency is a common
target in national nutrition policies?

(A) Vitamin C and Vitamin K
(B) Calcium and Magnesium

(C) Protein and Carbohydrate
(D) Iron and Folic acid

88. Whatisthe advantage of using biochemical
methods for nutritional assessment?

(A) Quick and easy to perform

(B) Provides detailed information on
body composition

(C) Allows for the assessment of long
term nutrient status

(D) Detectearly signs of malnutrition

89. What is a primary characteristic of
conventional energy sources?

(A) They are infinite in supply.

(B) They have low environmental
impact.

(C) They are derives from modern
technology.

(D) They are finite and depletable.

90. Which of the following is an example of a
non-conventional energy source used for electricity
generation?

(A) Nuclear energy
(B) Diesel

(C) Petrol

(D) Tidal energy
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91. Which one is a plagiarism in the context of
research ethics?

(A) Properly citing sources used in
the study

(B) Falsifying data to match desired
outcomes

(C) Presenting someone else’s work
as your own work

(D) Sharing preliminary findings with
colleagues

92. Which is the main criterion for diagonising
‘Severe acute malnutrition’ in children under five
years old?

(A) Body Mass Index (BMI) < 18-5

(B) Mid-upper arm circumference
< 115mm or weight for height
Z Score < —3SD

(C) Weight for age Z score < — 2SD
(D) Serum Albumin level < 3-5g/dl

93. The price of egg is decided by which
organization?

(A) NECC
(B) NABARD
(C) MAFCO
(D) STC

94. Whodiscovered the process of anaerobiosis?
(A) Louis Pasteur
(B) Robert Koch
(C) Theoder Escherich
(D) Liebig

95. Footand mouthdisease, ahighly contagious
disease is caused by

(A) Mycobacterium bovis
(B) Listeria monocytogenes
(C) Ribo virus

(D) Aptho virus
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96. Human immuno deficiency virus (HIV)
belongs to—

(A) Risk group I

(B) Risk group II
(C) Risk group III
(D) Risk group IV

97. Which food additive is used to enhance the
leavening process in baking?

(A) Carrageenan

(B) Xanthangum

(C) Sodium bicarbonate
(D) Saccharin

98. One gram of soluble dietary fiber
produce energy in human—

(A) 5 Kcal

(B) 1-8-2-0 Kcal
(C) 3-0-3-5 Kcal
(D) 4-0-4-5 Kcal

99. Gluten intolerant people can eat?
(A) Rye
(B) Wheat
(C) Bulgur
(D) Buck wheat

100. Ninhydrin test is used for
detection of which of the following?

(A) Protein

(B) Carbohydrate
(C) Fat

(D) Mineral
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